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Instruction for the Question Nos, 26 to 30 - .

Read the following Passage carefully and answer the following questions that follow:

We in India have our own special problems. No one can deny that some of them are of a serious nature
and must be attacked with Vigour and determination, Our national abjectives have been defined clearly.
We aims at providing every citizen with the basic necessities anfl complete freee Wﬂfﬂ : qﬂhq{,lﬂi SF
her own choice."We aim to create a democratic society, strong and free in which every citizen,
Irrespective of his religious beliefs, will occupy anequal and hono
opportunities for growth and service, We alm at €
inequalities of status and wealth, We are of i

entration of wealth in a few

strong people.
23 The underline word in the passage ‘vigour’ means -
B physical tension

gt .\
y . "
'l'ﬂv ! s
(&l loose temper

ay with” used in the passage?
b.(0) \doing with '
"‘:,__I_HJ Ereate

30. What is the Synonym of the phrasal verb ‘dein -

cﬁ abaft.r:h ?{1

ice from the given options -

?ﬁ:ﬁ A bull dog was given to her %-

= (dl She s being given a bull dog by someane.
The Air India. .

e EONCessional tickets th‘er;' E . -
L) 1S 155Uing I:i.ESUES

Ll istued . T EuS T |

Transform the following HMPIE sentence jng . ol

He admitted his mistake 5 E“Fﬂplex iy Gt

.I: He admitteg that he wae Mistaken, ﬂl] He admitted to mating a mistake.

o r Hl'_m e that he was making g Mistake, s H: :dnn:ltmd that he had made a mistake
(A-2:24] 153103 e e '
L]

I L ITH T




Select the correct indirect speech of the given sentence -
I's2id to him, “Let us go out for 3 walk,”

.5. “: Bgested him that they should Booutfora (b |requested him that we should go out for a

‘walk, N
told him that they should go out for a walk, ng;{d] I suggested to him that we should go A
" i k
R
35, Which of the following is correctly punctuated? Fy st tletll
= / '-' = kg ! ‘mr 1'_ e :-.._ b

S (5 What a beautiful painting -did you paint it!
@  \What a beautiful painting! Did you paint it?

(t) Advance
{d) Forward

o | e
g “‘ﬁ' mt‘?

L reign

decieve

© 38. Choose the correct one which best expresses the rida ng of th
~ jam like axcog in the \ of this company. = il .

N 4 (®)  the least paid employee

] n .

"2 t&hmﬁm _ s _ R

d nortal : {4 an unimpartant person

M=

jresses the m g of the underlined word of the sentence given

&

{b)  Bias
.--—"-._‘

(D) Training

i.. - ""fallmwing ctatement and choosé the COMTEC 1
E: Cons e
sh is used - r w
- ;:ET:airm;te an abrupt stOP ar change of thought o
| \me a scattered subject
; ﬁT;::a | &) anly ()
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41. Find the odd one from the given alternatives
a ¢ fadr i Remeui -
{iﬂ‘l} fraﬂtvtln {E} LDKQ (a} AXCZ o %ﬁq
42. Blind and not blind is an Elar:H'[.: ” {"3]' TBVD (d) FRHT
(a) Qualitative data  (b) Cl:an::t;ﬂue data 4 il S b s
() (b) FearHE T

HHR
(c) Both (a) and (b) (d) None of these © (a) R )0 & ﬁ it ll

43, \Which of the following is determined with the

help of histogram? el 87
(@) Arithmetic mean (b} Median (@) AT A (b) wTfexnt
C - d) K- . ' '{n] Al (d) EXTEHE HIEH

a4, ngﬂuﬁuﬂm&ﬂﬁmﬁmﬂﬁﬁmmm
trfaquigmmaﬁmwr-ﬁwm

mﬁﬁmﬁﬁﬁﬂiﬁﬂﬁﬂﬁ,ﬂ‘rw 11 Negorl
e & —

(a) 9.50 (b) 9.48
; (d) 8.63
) i S T AR 100% qE fam
S, o SEE e A g g -
a) 200% (b) 141%
c) 182% (d) 100%

B & AW & G 32 @

46, 2y el A T
i Sl il @ A A

e of cylinder A is 3 times of 5

volume of cylinder B, then value ofnis- T
(@) 2 (b) * a (b} 4
2 o 2 . e 3
{9 B ' ' @2 (d) 2
f 47. gfg a4 o frem & 25% @ gfa @ @ 9
','ﬁ#ﬁ-ﬂﬁﬂ#mﬁmmmﬁm
1 e ST w7
(a) 36 () 42
(c} 58 {d) 62

ot -ﬂwﬂﬁu@%ﬁmmﬁﬁ agﬁﬂ"ﬁ

[ e Se &
the sum of its digits is - e Bl HE B Sl B A E —
{a) 9 {b) 10 (a9 (b) 10
(c) 18 (d) Mo such number . {c) 18 (d) rd T e
enists Fyep= a8 #
F HCF 25 & ©oT SHd LM 7 e

= 25 and other factors of 49 T E

oA 14.60% 15 % | e @ a0

49. HCF of two numbers |

their LCM are 14 and 15. 5um of the numbers is -

i (a) 700 (b) 725 (a) 700 (b 725

(e} 750 (d) 775 c) 750 (d) 775

R 11, N . -
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50. Ch:_jmse the set of numbers from the alternatives
which is similar to the set (6, 36, 63) -

(@) (8, 64, 46) (b) (7, 49, 98)
(€} (94, 44, 5) (d) (11, 111, 84)

~ If the LCM and HCF of two polynomials are (x + 1)
(x* + 6x + B) and (x + 1) respectively and one of
the polynomial is x* + 5x + 4, then the other s -
(8) % =3n+2

g (b) %@+ 3% 42
C) % +2x+3

{d) %2 — 2% +3
52. if after selling 30 pens, the seller observes the
profit of sell price of 10 pens, then the profit

= -mmiﬁ‘
(&) 33.33% (b) 50%
(€) 66.67% (d) 200%

53 lftmdngsstart running in opposite directions
on a circular path of diameter 7 m with the speed
2.5 m/sec. and 3 m/sec., then how long will they
take to be at maximum distance?
(a) 1 second (b} 2 second
(© 3 second (@ asecond
54. |f X men complete a work in 40 days and after

adding 5 extra men 10 days are saved, then 30
men will complete this work in -

(a) 40 days (b} 30 days

(€) 20 days (d) 10 days

55. Three numbers are in the ratio of 3:4:5_» and their
.4 HCF and LCM are 40 and 2400, respectively, then

the largest number is -

(b) 200
40
(::: 240 (d) 360
ction is a part
- Assertio A) — Interpersonal attra
e 2 of social ir;temcnnn;ﬁl
Reason — |t is necessary for survival.
a) hi'nl::r nd (A} are (®) goth (R) and (&) are
o "( SR true but (R) is not
mmrmﬁmc‘m:: lsnaﬂﬂ" n  correct explanation
expia e <
1 T:.'::&}truﬂ but [R) i5 (d) (A) is false but
E . frue
s network promotes an

57. which mmmunlcﬂtfn:municate
individual tuw w.cth his immediat
information 0N
cubordinate?

(8) Gossip — cN?
(¢) wheel —chai"___
¢ [AZA] 153102 ¢

(b) Cluster - chain
(d) Single — chail

. Q) a0 7

confidential
B 5uperi.u-r ar

T"TLJ,I'E-T_UHET__' —_—

ﬁmﬁﬁﬁﬂmﬁiﬁﬁﬂﬁmaﬂgﬁﬁﬁ’fﬁﬂﬁﬂ
(6, 36, 63) & THET & —

(8, 64, 46) (b) {7, 49, 98)
(c) (94, 44, 5) (d) (11,111, 84)

51, ufy @) agual @ LCM @I HCF PHIE (x+1)

(x + Gx + 8) T (x+1) & 3k &TH ¥ (& 9EIS
x2 4 5x + 4 BI, O g¥NT 4g9S g —

(@) ¥i-3x+2 (b) x2+ Ix+2

(e) x2+2x+3 (d) x2—2x+3

52, ﬁwhﬁmﬁsnﬁ#aﬂ#a&wmwﬁ
% figa 7 1 @ BNl €, qf o ol gra
[2) 33.33% (b) 50%

{c) 66.67% (d} 200%

B3, afz a1 ma U 7 A =TE Al gena TRy R
fafie s 4 2.5 /dave vd 37 /HE0S
iy A g AT FYd 2§ gy A
aftem ox B H 9 o g oY

(a) 1 AFvs (b} 2 AFvs
(¢} 3 WS (d) 4 qFvs

54. qifx % aTEHl U@ @M B 40 5 7 W Fwd 2
a5 afRen amed @ | 10 &7 @5 gun
Bl &, T 30 S §9 HW 6 qU B

{b) 30 fa=1 7
{c) 20 f&=1 (d) 10 f&=1

55. i Wl @1 AU 3:4:5 2 U 99 HCF SR
LCM HT: 40 2R 2400 &, @ S99 wawd @21
ey
{a) 40
(c) 240

(b} 200
id} 360

f}) SRIPOT (A) — ST STt wEIRE

AT & U HIT & |
HRY (R) — WE FESAEAr B AT F

(R} 2 (A) BT i) (R) & (A) &1
Hey ¥ 3w (R), (A) e # & (R), (A)
& 0l =EEn HR @) G99 S 98
2 el &

(c) [-A]'wEIEH & R (R) (@) (A) e & fa (R
T # ey @

ST W B AR o R @t @ e
T AR srrEn e andiRer AT @)

wiiAr S & Y o S &2
(8} 09 — e {h]ﬂnﬁ_m
© uF - gE (o) ywe - s

L LT, T
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98, Given below are two statements, one is labelled @ 8 o # ferei 4
Y MITH

as assertion (A) and other Is reason (R) - B sy (a )

Assertion (A) — Oral communication is a useful TR Y ey (R) BT ey #
channel of communication, (A)— #tfer em o i -
Reason (R) - Because oral communication has no Bl g £
I~ proof what has been communicated. PR (R) — ifdy ditfarsy il R —
Select '&Te correct answer using the code given . €, SHET way BT |
below £} e m"mﬁ;ﬁﬁ“ﬁ?ﬁ?gﬁm—
(a) Bm'r_'[_t]m and (R) are (B) Both (A} and (R) are (4} En"l (R) BT () (A) 3h (R) @
true and (R) is true but (R) is not W R SR (R), (A) |/ E g (R), (A)
correct explanation  correct explanation _f W AT T AR
of (A) of (A} & HIH] #
() (A) is true but (R)is (d) (A) is false but (R) is (e} (a) b g f (R) (d) (A) e & fig (R)
false true : T § W B

RS T, o W Rerfer & ey ger= 8,
Gfrﬁﬁam'r}mﬂﬁa;w'?ﬁﬂ@ AT wre
B 9 g & 99 fow ey # o a2

58. Internakeonflict that occurs, when people receive
information incompatible with their value system
is knowfas -

(8) Cogfiive (B) Environmental : R : et
Dfsgsuﬁunance Dissonance 'a IS ) qaraviy f ' ;

%) Social Dissonance  (d) Political Dissonance (6) T fore (0) T frerfa

50. Which ane of the following is not a type of 8O F=forfg o 9 o @ ve g T
informal communication network? THR AedE & e A8 27
(8} Probability (b) Cluster (@) T (0} 7
(c) Gosglp {d} Circular (e} e e Fgerk (TiRY)

B1. Given Befow are two statements, one is labelleg 61+ = BT For U 70 ¢ Rired U @) AT
as assertion (A) and other as reason {R) - (A) 3= SAY @ BT (R) FET T B =
Assertion (A) - Clarity of communication s AT (A) — TER F Weedr el duw

essential for effective Fa & fory amasas )
communication process. @Y (R) — D UST9 (e vq emgf

Reason (R) - Because adequacy and timing is nog (¥ (REIRT) gl wemw wfm

essential for effective @ forg Naea® 7 7
—  tommunication process, | fey v wE 9 ¥E 9 'ﬂﬁﬁr 5

Select gitrect answer using code given, below - (a) (A) T (R) &1 (B (A) S (R) @

(@) Both{A) and (R) are (b) otk (A) and (R) are WoT © Sl (R), (A) WA E faeg (R), ()
truecand (R) is true but (R) is not ) WE WTE WAl W " aren a9
ﬂg;}eﬂ explanation  correct explanation - & e #

0 of (A) - R) (d) (A) e @ feg (R)

(©) (A)is true but (R) is (d) (A) I false but (R) is () S ey &
false true e 8

T feelt v Rroeg o) gty
82. select one alternative from the FUIlDwing, which 62 ﬁ";‘ﬁ:’ﬁqﬁ R ﬁ.?F ;-r.?’* :
Sil SURIE 1 AT BT A8 A 8

Is not a way of dealing with rUMmoLrs

: : (b)) TRt O el
(&) Providing facts 4] Hl‘LlL,IEtJ'nn af cayses 133 ey aueTE SR (b) THEWT 6 T (T
2} Use of reliable (cl} Concealment of b (o) e el @ () ser G 1
SOUTCese o
A from leaders of =y fovars
ars - S| Il
|_1_|r|'|ll1uni[-|.- HIﬂJI el

| A-2-24) 153163

—

L |

- __J



] » x
B3. Originally who developed the concept of 63 ‘gardeN fA¥edT T El G it
Transactional Analysis'? frenfre sy

(8) Joseph Luft

() Eric Berne fa) ST T (b) fed 7 T8
() Harrington Ingham  (d) None of the above () &fTe g5 (d) st # 4 oI
|

64. Which one of the following is not a psychological ' 84. foyefaifiad o WA R # 0P SIS
barrier in communication? : et AE B7

(@) Bodily expressed  (b) Premature (@) g T @ @ (b) a7 4
message evaluation | Heral
(€) Distrust in {d) Inattention o) dere 7 afdeErE (d) af=TaETT
communication i : oy ¥ =Ter i iR
85. |n the communication model, the process of 65 TR A= " ﬁﬂﬂ_tﬁ s L
putting the ideas into a message is known as - Y e W H I -‘nt:-_-r_ e
(a) Persuasion () Encoding (3) 3 R
- (&) Decoding (d) Interference (c) H‘Hﬂ?_'ﬁff"j " ..I'd" 7_‘!* q'lr_ Y e
66. Arrange the following  elements  of | 66. o ufhar @ Frefafias 9@ &1 el PH 0
communication process in copey sagen:e - L cied PHIfeTy —
(1) Source -r:‘;r' ; Hl )
(2) Channel " b (2)AEEA
(3) Receiver i
() Message a3 e
(5) Feedback 7 (5) Hirgfte
(@ 1,4,2,3,6,5 b) 1,2,3,4,5,6 5‘ HBLLS0,3, 65 01,:2,3.4.5:6
(© 1,3,4,2,6,5 (d) 4,5,6,1, 2.3 | 1611,3,4,2,5,5 (@ 4,5,6,1,2,3
§7. Which one of the following is NOT a component | &7 Frerfaftrs & &1 @ #@r o7 o TET B?
of listening? , (@) e (b) et
(&) Sensing 1) Eysiuating (e} wfafrar e (d) 3=
(¢) Responding {d} persuasion e
B. URTTET (ORISR S &
68. paralanguage s refated to - | | L
(a) Interpersonal skills () Verbal @) Sie ©) ot ww @
communication. : A
{e) Non-verbal 9 Dﬂw;t:;fatinn g © SR W 9§ () s W
‘communication gRn ; T W 76 B s
W“"E fiand of Ram. Pointing to Manish, ‘;'m*[ :l” A g | ;ﬁm B AR SR I &Y
e = who Is he? Ram said, “His $01 AT NG ST G R
Shyam asked Ram, W ook Ram as- 1 el MY A4S @7 Wa | A w1 w9
. on’s uncle”, panish 15 related to Ra T Wy §?
il sh (b} Father-in-law -@ five (B) TR
® Grandiather (&) Brothel i (d) w1
o 2
o arch, 2008 is Monday,the What €2 " 3R 31797, 2008 ) v &, 3197, 2010
. :hnar:I be on 31 March, 20117 @ B R e '
N ciaiton (b} Tuesday (@) ¥faum (b) #Harerew
(8} 5un oy (d) Saturday < ] qewfiram (d
-4 Tm;mfd_d__ = PagePolly ——— ) iy
A28 15310

 TUITAY

___.-#-___



71. Which one of the following years will have the

1.

same calender as of 20097 m\i‘nf f ad &1 deise o 2000 71 e

(a) 2014 ib) 7015 (a) 201"1

(¢} 2016 (d) 2017 ®) 2016 {b) 2015
72. Refer to the statements given below = 3 CEEE—— 2017

1. All boys are truthful. | ¥ W ey 6 )

l. Kamal is boy. m_m £

Conclusion — (1) T o A1

(1) Kamal is truthful,

(2) 0 Tl A B #)

(2) AW truthful persans are boys a8 v o e U e Hel 9T
select the correct answer using the code - ﬂﬁ‘ltg > et
(&) Only (1) is correct  (b) Only (2) js correct M T (1) FE B (D) e (2) A 2
(¢} (1) and (2) both are (d) Neither (1) noT (2) s e} (1) men ﬂZ]E‘l’rl’] w# (d) 7 A (1), 7 (2)
correct correct g el @

73. There is a clock, that is 3 minutes late 00 sunday 73 uw ) it vfar @1 gieey 2 a0 3 fve g @
at 2 p.m. and it is 5 minutes fast on Tuesday O S HITa T, AN H 27 5 e @ 21
2 p.m., when did the clock show the right time? =9 g4 A & oAy & fEEe?
(a) Monday 10 a.m.  (b) Monday Ba.m. (a) WYEAR FAE 100 (0) WA HaE B

() Tuesday 2 a.m. {d) Tuesday b a.m. (¢} HraR gaw 249 (d) wrear 9T 6 i i

74. The relation that is there between 6 and16, 74 T Wy 6 wem 16 A & @ weaw 12 T
 remains the same between 12 and ...

i
(a) 23 (b) 79 (a) 23 (b} 29
ic) 34 (d) 42 AB 34 d) 42
75. This is a number series given below. What will be 75 i) ofm Een & T 8| THH JA W D
the next number in the series? BT
1,0,5,8, 17,28, v N L
(@}37 1) 35 (@) 37 () 35
@33 )3 (e 33 (d) 31
76. Statement ; College students should be 16, g < e @ BT B Ko T
~ restricted from participating in w4 W et f S ey
i ) political activities. o « (1) B wicw @ 9T & a7 TETE Y &
Argument : (1} Yes, college students shouild
concentrate on studies. & e |
(11} Yes, colleges are becoming battle (1) =, e T g @ fog Wi
ground for political parties. fre w0 18 1
select the correct answer - :
(8} Only argument | 15 (b} Only argument || is e SR i
strong strong {a) el =% | WE g ) e g || WEe f
(&) Neither Inor llis  (d) Both | and Il are g = v o | AN E) 2t (7 1 e
strong strong A B

A 2341 153102 e =—
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77 Arrange the foll :
owing words in the meani
manner — eaningful 77

(1) Train

(2) Car

(3) Cycle

(4) Bus
@1,2,3,4

(b} 3,2,4,1
(c) 3,4,1,2

< d)1,3,4,2
* Anuj is facing North-East. He turned 90° in the

78,
clud_w.[ise direction, then 180° in the
anticlo tlunmuthm' 90° in the same

. Whih diecton's h fachgnow?

(@ south-West (b North - West

(© South—East (9 North
?ﬂ.smﬂmrehtﬂd number from the given 79

alternatives —

e B 0

(a) 48 5 {b) 50

(© 51 180,
30 Find the correct alternative from the following~ 0.

ses : 7 : : Bicycle : Unicycle

81. Who has said, ‘Dercision making involves
evaluating alternatives and making choices
among them.'?

{a) Rathus (b} Santrock
(c) Baron (d) Matlin

82. |nductive reasoningis basedon- -
(a) specific to general  (®) EE"EWHQWEFQIE;
principle

principle
{c) Both type principles {d} None of these

i
eyttt @Y S sefgd
aﬁaﬁﬂlﬁﬂﬁ" i

(1)

(2}t

(3 rdfhet

(4), 44 v

@) 1,2,3, 4 MS,L:,Z'
{6)3,4,1,2 (d) 1,3, e o
m#qﬂ'ﬁ-‘mwwﬁﬁm G
rjn'lr.':_u‘h f;‘llrrn |.:r ',']iT| o G iR gl 0 d
_|.1,',II.'-'|_ =4 3 =

ta) i — i () 3 — TiEEE

(¢) aféyor — B o | |
 fag v RAEEI U e e @ AT
Fifae —

4:17::7:7

(Al a8 B 50

lﬁ}' 51 .'|jl| 49

Bt & @ W) Rwe @ 299 SIS
g+ 7 v RERRE ¢ YA

{c} Mirror (d) Face %._ e

. Fhun R R Jm st
T T H T BT L7 '

fa) Tepy (b} T
lc] 39 {c) Hefom

B arvgras ag a2
ta) e o wuea

(b) = Wf
frgia us R

\C) 21 R & Frgil () == @ e e
oy . H HE T8

rithm 5 2 WFEnf 8. vanfRem v gme A
3. misa . ol
s | solution (D) Heuristics Eﬁl?m:““ WA HT (B) w5 9y =

{a) Mechanical sol e | 3 .

humb id) (ieans-end analysis e | T & (d) T

(c) Rule of t . pe ey R
g4. punctional fixedness ProJUCES. inse b T EAD fur §

problem solving process: l:“m ................ o OS] FRET B

{a) Facllitation (&) BlDEkIHEt | WEI?TEIT B

(c) partial facilitation (d) No effec ©) 31 g %

T _ir.'igl:- 11 of T ?h’l# W .‘.1.@',

i;?:‘.jq‘ 753102 ;




PR L -
86,21 ,28, 25,39, %I
85. | a subject attempts to solve a problem on the

basis of his past experience, it is called -
{b) Confirmation bias

(d) None of these
her is tried

{a) Transfer effect
(c) Mental set

86. For one possible solution after anot
until a successful one is found, is called -
b)Y Guess

{al Insight
(@) None of these

(&) Trial and Error
7. Which one of the following is not used by the

people as a method of problem solving?
b,‘.  (a) Heuristics (b} Algorithms
' (d) Functional Fixedness

(@ Trial and Error

88. Which one of the following methods of problems
#ﬂm gives guarantee of success?

(@) Heuristics method  (b) Algorithms method
{€) Backward method  (d) Planning methad

+89. Which type of prablem was used by Kohler in
- (@ Verbalmaterial (b} Detour problems
bl 2 box (d) None of these

90. Which problem task s not used in animal subjects
among following?

(3) Purzle box (8) Detour problem

'd) Double
prablem
1. ;i.r;.d ;.h: r;isﬁﬂg number in the following -
Ly 3, ly _;'9_. 'B] ﬂ.-_iﬂ R e e el b 17 18
15’ 24 &t = . £ 4 14} 21,
(@) 21

&) Anagrams alternation

il (@ 16

dSunil are ranked seventh and eleventh
from the top in the class of 31
it will be their respectiy
the bottom in the class? s .
{a) 20t and 23
I€) 25" and 21=

(B) 24th and 20th
{dy 26'" ang 33nd

93, The missi
53INE letter in the s
K= EqQuence C, N, K, ?' E
(&) | i)
i i (d) I:

- '
I dge 19

2ori6

M LT T TRTPTN

b) wemifem fafey

“e) ez ferfey (d) o fafy

SR BT I TS S——
ST T W [Far ara?
&) wifess waft ib) anyeysy wor s
e (€) Tt Hop () &7 & @18 T8
S Frerifae 3 6 i a1 s o T -
L forg et dt R s 22
M) oy Ll (b} e T TR
RS (c} GE AT
' TRy I
o1 | g Fe s Ff - |
738 6,59, 812,1Y, ... 12, 18,14,21,
[ﬂ -
f'\llﬁr
D) 21 (b) 9
'@'@ 15 (d) 16

op. T wE & 31 Bl # 3T o I T A
v W HHY wel offv TEar &) wan A A
3 T A W

@ 0@ #v 237 (O 2477 3R 20T
(d) 26 11 &fw 2274
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94. Choose the number pai

T

w\@@

from others - r/group which is differenh 84. afF TR /W B G GI’I = 4 = 8/ J} d}/
:E; 8:25 (b} 22:67 (a) 8:25 (b) 22:67 /
c} 18- .
2 ) 15:46 W 1873 (d) 15:46
95. A and B are brother and sist
i Ister respectively. Cis 95 o 7oy B aver e sitv @@ &1 ¢, A @1 [T D,
ather of A, D is sister of C and E is mother of D,
then how is B related to £? C et o £, D) AT Y, 7 B, E W b YER
(8) Grand daughter  (b) Great Grand R g7 42
daughter ﬁ () m }E
(€) Aunt (d) Daughter fo) “EeT td) [
6. H:haﬁ'f code |ﬂl'lguagﬂ LC is written as 6 P TE B e [ e AIWT W, LC®T & T TE &0 {é‘_:f?'
:ET:M?‘IHID then what will be the PO 7 B O A a1 o T L s O o A 1 B
n the same code language? T BT *r ;
(a) 12 (b) 9 ™~ (@) 12 (b) 9 iﬂ?@f \F/
{c) 8 (d) 7 p (d) 7
97 A train of length 140 m is running at a speed of  97. 140 #itex &l Yol 60 [ /U2 T A
60 km/hr and a cat is running in the same 1 ol <A ® AR g faweh ol fEn A e
direction parallel to the train at a speed of 4 A 18 L /gve =1 w9 S v
18 km/hr. Thetrainwmn-m% - # | el fawen ® 9R W ol — a-A
= :!.’Bae:unds (b) 11 #. E (a) 10 Hehve # (b) 11 s # g
(o) 12 seconds d 1.2 seconds (c] 12 ¥ue # () 42-J@ve 4 ’“:fj =
Pt , r" ¢
98. Find the correct alternative fur the mﬁ?ﬂsing «98. g Ug @ [y wEl A 9T P v
term — ABC, 6, EFG, 210, UK,? o™ 'F
(a) 1000 (B} 190 3273 £ (d) 999 )
{c) 990 (d) 999 g-h : /{'
1fa+b=-+; thanthevaluenfahb‘l:.rii 99 ﬂﬁ"a+b—-+ A al+bt B HAE — 7
{a) 0 () 1 i (a0 (b) 1 L_
() 2 (d 8 4 {e] 2 (dh 8 j b
100, o ENDMENT = 89 B1 TT SECRETARYW
100. |f £ = 5, AMENDMENT = 89, Sﬁgﬁyhm’ is :1 : : 5, &AM W
equal to- o . 114 (B 100
(a) 114 t:; :ﬁ 3 e N \Eﬁ 115 ﬁ,}\ dy 112
(© 115 @2 oy & o 8
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